IRGN2155 IRG Working Set 2015v2
Consolidated Comments

This document contains comments from China, Japan, ROK, HKSAR, UTC and SAT. All comments are consolidated in 6 tables:
1. Unification

2. Attributes

3. Font Design

4. Evidence

5. Others

The FS comments are not included, all FS will be corrected before submitting to WG2.
The explanations on postponed characters are not included, they will be discussed separately.
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1. Unification

comment Comment
seql| charl seq 2 char 2 comment
type From
00719 U+580D Unification  |According to IWDS (based on IRG #42), the glyph  |H
should be unifiable with U+580D.
AY
UTC-02953 IWDS #243:
32 0580D 243| % ﬁa
— \
T
7 | 3 Code Chart:
3779 s~ -1~
I 428 % ﬁ
9038 G3-3D6D TE JE64 \V . N
7 1628 % ‘E% % % ]‘% i%
G0-525D  HB1-B668  T1-624F JO-306F _ KO-6C6F  V1-6949
01416 j:klé U+2BF4A j:)_\lzr Unification  [The glyph is identical to U+2BF4A. H
UTC-02632 i
64 2BF4A
$
8 [ 2
ifiable with U+79B i ke diff ?
02962 ]% U+79B2 R % ]% ]% I% l% % unification unifiable with U+79B9, as minor stroke difference J
T13-3163 GO0-5360 HB1-ACEA  T1-5260 J0-6338 K0-6860 V16120
unifiable with U+2575E, as UCV16 (not exactly same|J
but similar)
16 |£ =
— 2575E
02966 - U+2575E[ = unification =2
G Z4471101 60E8 N J J J \ \A
e B BB B B
G0-3252 H-9A61 T3-3578 J0-3834 K2-3264
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2975 U+79E7 unification SAT
KC-03051 m
y 683D N > \ > o s L unifiable with U+683D, as minor stroke difference? [J
02982 %% U+683D [ Ak A e # B M unification
TI32F6C GO-5454  HBI-AEEZ T16626  JOBAF  KOBE2S V2802
79EB . unifiable with U+79E6, as minor stroke difference? |J
02985 Z= U+79E6 | Z8 8 78 & H & unification
113-2161 G0-4758 HB1-AFB3  T1-5736 JO-3F41 KO-7254 V2-8E40
SAT: U+E0102 J, SAT
N AN
(SR " )
E0100 EO101 E0102
Adobe-Japanl  Hanyo-Denshi  Hanyo-Denshi
CID+13875 IP7AQ5 KS280560
N TAD5 ¢ AN o J: should be unified with U+7A05, as USAT-04844 in
02986 U+7A05 |~ il *ﬂ ﬁﬁ i unification  |cJK F was unified to U+5A27.
T13-2F6F GE-3624 HB1-BS7TC  T16124 KO-612A .
v 5A27 ﬂﬁﬁ, N/ Va
I 5 U A
Z SAT04844 G3-3C6A  HGCS1  T42C38  J1-3856  K17153
01738
USAT04844
unified by U+5A27, irg40.
7A00 < > < . unifiable with U+7A00, as minor stroke difference? (J
02994| U+7A00 |~ ¥ 5 Fi #a o * unification
TL3-2070 GO4FZ1  HBI-BS?D T16125  J0-3528  KOD7C VI-G13C
TA37 =s| pi . unifiable with U+7A37, as minor stroke difference? |J
02995 & U+7A37 |76 T8 2 F2 B B M unification

UTC-01508

GO-7022 HB1-BDSE TI6E20  JOB34D  KO-T243  W2-8E47
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unifiable with IMJ-058231 (CJK F), as JIMJ-059990 |J
in CJK F was unified to U+7A3D.
o 1 16 TE T8 A A
FA IMJ- o008 e FL o 05316 . '
02999 &= 058231 | =m0 = = unification JNJ-059990
e (CIK F) oL s nified by U+07A3D, irgd3. first time
| unification for components X and 7,
irg43.
3041 U+2597C Unification & [The evidence is different from the representative SAT
Evidence glyph and may be unified with U+2597C.
T13-2F7B
3047 U+41AB unification May be unified. SAT
JUN
T13-3021
FA TAFA KA AAe R L unifiable with U+7AFA as minor stroke? J
03084 “7. U+7AFA | A 25 25 B A unification
113-3021 KO-7567
3089 | & U+25B12 - unification  [May be unified SAT
JAAR
T13-302F
3114 | 2~ U+7BD5 S unification  [May be unified? SAT
KC-0318 i.g
03185
T
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3332 | KA U+2627C oo .‘m unification |May be unified? SAT
j N AN
UTC-01401 j_
3394 U+43CE E}:L unification [May be unified? SAT
GHZR42193.09
) 2680E [ RgA e unifiable with U+2680E as minor stroke difference? |J
03466 U+2680E]| » == H;f_i ng:( Hﬁ‘k‘ unification
|[GHZR42268.01 UCS2003  GKX-0984.28 T4-5265
KC- . unifiable with KC-07122 (CJK F) as minor stroke J
g5 2I§341 Hm: e difference?
03478 07122 | mn Jlk unification
IGHZR42279.03 (CJK F) KC-07122
2690D L unifiable with U+2690D as minor stroke difference? [J
03494 £ u+2690D[" % H 5§ 2 unification
113-3050 uCs2003 ‘GKX-1000.22 T6-4365
26956 . unifiable with U+26956 as minor stroke difference? [J
03498 7 U+26956[ = FH [ unification
T13-3051 UCS2003  GHZ-53038.01
SDE2 ¢85 <<§ << L unifiable with U+5DE2 as similar shapes? J
03500 U+5DE2 | «=: % Sléc 5:% £ B4 unification P
113-3052 G0-3332 HB1-BISF  T1-5A25 J3-7428
T 269ED T.H E 1=t L unifiable with U+269ED as similar shapes? J
03515 E'aa U+269ED| 7 sn 7] EEIE{ ﬁﬂ:ﬁ] unification P
(GHZR53142.25 UCS2003  GKX-1007.23 T7-3178
Lt 821A & R Ik L unifiable with U+821A as similar shapes? no existing |J
03516“7%5%2_% U+821A | = jad=1 @% %ﬁé‘: % unification disunification about the component &
< aasE [z unifiable with U+2AAEF as similar shapes? The J
03517 U+445E | #wo 2 unification  |component {::[Z X has once been used in only
GrzR10101.05 eEE Ta5u8 U+2AAEF (] (K5-0153)
s 827E H- S+ fpe unifiable with U+827E J
03542 U+827E | wwz  M_ N M unification
TI3-3034 GD-302C  HB1-ABE3  T1-4864
’ 6589 —» L unifiable with U+65B9 as minor stroke difference? (J
03544 U+65B9 | = J1 51 JT unification

I'13-305C

GO-3730  HB1-A4EE  T1-4540  JO4ATD
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26AFF +H- - should be unified with U+26AFF. J
1402 R
-z UCSs2003 GH%_G‘ TF-226E H H
03546| 2 U+26AFF e unification
T13-3052
X
J3TASD
4 2B1E9 =& unifiable with U+2B1E9 as minor stroke difference? (J
03558 U+2B1E9| "« T unification
EC-03342 JK-B5560
e 7097 - + L unifiable with U+7097 as minor stroke difference? J
03560 x U+7097 | «ese S R unification
UTC-01286 gs& T4 J14%F
= 83D2 =3 e unifiable with U+83D2 as minor stroke difference?  (J
+ 1408 ~ unification
03584 G 73702401 U 83D2 GI-694F gJE‘tF
" 8417 e e s Y L unifiable with U+8417 as minor stroke difference? J
03590| == U+8417 |[#we &% St o unification
UTC-01962 GE-3A87 TIIESE  JATEAS  K2SBIE
26CD1 ﬁ ﬁ = unifiable with U+26CD1 as minor stroke difference? |(J
e w1409 = i
03598 : U+26CD1 o o e unification
113-2066
H-8561
03611 et U+26C9E —54— Unification According to INDS (based on IRG#42), the glyph
submitted should be unifiable with U+26C9E.
o
= p— 26C9E % Py
UTC-01967 e =
140 26C9E UCS2003  TR-3ET1
9-“-|-| Reference: INDS (based on IRG#42):
g 1 3 16 | AN
—. =
Code chart:
60ES8 £ s
e B BB BB
G0-3752  H-0AB1  T33578  JO-3B34  K2-3264
=z B6CF g e e unifiable with U+86CF as minor stroke difference? |J
+ w28 nification
osro7) ¥ |uweecF[te B B enficati
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- 22545 Al il L unifiable with U+22545 as similar shape difference? (J
03774| 1% U+22545( %5 T 1a] unification p
UTC-01412 UCS2003  GHZ-20838.03
3776 /XE\ U+2B89A 2B89A /\ unification  [May be unified SAT
G_Z0591501 /K 96 l :
V4-4078
IMJ 2E5DA unifiable with IMJ-058724 as connected or crossing |J
03821 0 872-4 L B stroke difference?
ORI unification
GHZR73918.13 S 39C0 %EEI BEE &Eﬁ E"&% @ gﬁ‘
(CJ K F) o G1-3958 HECEEE T1-7D28 E;B? KO-4E3A V1-6660
3877 T U+27B0C|2: Unification SAT
UTEIOJ?-EIB'? DELBI
-0285
4085 E,?’V. U+8DES Eﬁ unification  |May be unified SAT
GHZRE;A 08 &
57F7 . unifiable with U+57F7 as minor stroke difference? J
04250 U+57F7 [ fE T unification
T13-312F G1-563 HB1-BOF5 T1-5054  J0-3C30  KO727B  V1-5070
= 5831 4y + L unifiable with U+5831 as similar shapes? J
04251 ¥K U+5831 | r=¢ 3 E(’ %‘(‘ i %E(t unification P
T13-312F G1-3128  HB1-B3F8  T1-5ESE JO-4A73 KO-5C43 V15079
5 4896 5 . J: unifiable with U+4896 as minor stroke difference? |J, SAT
04281 7E U+4896 [+ w I 7 unification
113-3136 537162 T4-302E
4310 :\L%. U+8598 |34 unification |This character has already been
+ .
vicams JE (U+8598) encoded as kKangXi 1061. 190,
> 9088 ) ) MH O3 e unifiable with U+9088 as similar shapes? J
04313| & U+9088 [ r Bt B #i B B unification P
USATOB445 G0-6563 HB1-C2E4  T1-774F Ji-6168 K0-5831

7/ 67




J: unifiable with U+28622 as minor stroke difference?
\ A
28622 SE1 N SEd .
04315 [’% U+28622| = NG R i unification :[ =
GHZR74152.02
SAT:
04373 @ﬂn U+250B9 % unification  |Unifiable ?
GHZR63834.04 I
2. Attributes
comment Comment
seq 1 char 1 comment
type From
/% Change radical to 168 {, and change SC to 3 uTC
00062 Z-\ Radical
G_Z3072403
L T T T
niuj [nitu’ ] jm ¢ 54
SEHY RO E s MEARE: S~
00049 J &H Radical gyaeuj miuj. I payw;
s,
G_Z3841301 This character is mean scars of head skin, so it'll be better to
change its radical to 107(f), SC to 3 and FS to 2.
&F}? Change radical to 29(X), SCto 11 and FSto 3 '
00065 /F Radical X's radical is X
G_Z1652501
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= . Change radical to 166(2), SCto 7 and FS to 3.
00067 EX Radical F’'sradical is .
G_Z0502301
ﬂ% Previous radical is J, which isn’'t an obvious radical. It will be[T
. better to change its radical to 32(%), SC to 15 and FS to 3.
00068 Radical Ft's radical is + , and £’s radical is £. None of them are group
G_Z3311101 into the radical J .
<Iﬂ\< T, UTC
[ | ) a. Change radical to 47(() and SC to 1.
00071 <UI< Radical b. There’s too much space in the middle, they should be closer.
GHZR10060.06
It means the chin, change its radical to 130(PJ) and SC to 15 will [T
be better.
1éer _ W sl om0
00253 Ii"’:l Radical giemz [kiim'] gz
G_71902402 e, X AT B,
~ i, giemzhangz.
B.
This character means a part of pig. It will be better to change its [T
radical to 130(A) and SC to 7.
< LA
00306 I;,'f‘j? Radical bouz [pou’] g

G_Z0341101

“HR” IR P BS K
~, nohbwdbouz. g py,

e 2 [ 3% B0 B 170 44 SR 32 i

W, BN,
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JL

It's mean taboo or a fuss. Change its radical to 61(i(»), SC to 2
and FS to 3 will be better.
A3 . ()

geih [kei®] oK,

00346 \ Radical wg~myu, Baenz
/ [_J\ ae geihgwn manh.
G_Z1841301 MBS, @itik, BT~
#g, Cungj mbou.
: : J
geih mbouj caz. Fitse
LA,
T: It's meaning is to shovel. It will be better to change its radical to|T, H
18(71), SCto 8 and FS to 1.
:bE H: In the light of the meaning of the glyph, should the radical be
:‘: 3 i | . ?
G._71131402 S (IL(sm:fi R18) rather than 1. (Earth, R32)? If yes, then
00716 Radical ’ '

32
T
7 T 2

ST TRETS!
danj[ta;n“ ]"ff‘") m: =
k % m jg. Danj doj.

baez guh bwnh. P

FMAEL o
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00812

Eyp
wH

G_Z72362401

Radical

T: Change radical to 30(R).
='s radical is 0.

H: In the light of the meaning, should the radical be (Mouth,

—_—

R30) or Ij\il (Meat, R130) rather than 1 . (Scholar, R33)? If

the radical is changed to

(Mouth, R30), then SC=17, FS=1,

if the radical is changed to IASI (Meat, R130), then SC=16,

FS=1.

Evidence:

W Cm. R om.
D

haengj

[hay’ | @z

v, A&~mtig. Gou gag
haengj gwx de.gpon

WA @ H ; B, RV o
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00838

ek,

G_73482401

Radical

Change radical to 44(F7) and FS to 3. Its radical should be unified
with #01017 and #01018.

@nda [da' ] mare i

ARENAERE,

00847

i

G_Z2621401

Radical

This character is mean scar or skin, so it will be better to change
its radical to 107(F), SC to 9 and FS to 1.

| [
\ﬂﬂiemj[i:m‘].)m‘};&x =

#, iemjsae. m#n

& @48 WA~
Aen baez neix dawz
iemj loh. ximamas
HT. @K, B)#H, ~*
f, iemj maknim. g
. 0 K(EYEFHI
B B~ EEHEXNT.
Cawz iemj baelij miz
song gaen. pkFERE
MK,

00879

G_Z73872201

Radical

This character is mean deaf, so it will be better to change its
radical to 128(E), SCto 5 and FS to 5.

2 . me om)
nuk[nuk’ ] 2, i~
rwz nuk. Hz,

00939

a:‘.-rL!:F

G_Z3701302

Radical

The glyph is different from the evidence.
The 3" stroke of 4 should be horizontal.

}‘_{:‘t
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Radical

radical to 149(&), SC to 6 and FS to 4.
aﬁ (i:é%L w\ ﬂ\ "[Hl)

The character is mean to supplicate, it will be better to change its

00967 3
=]
G_Z3781502 ngon [gon'] sk,
ZOR: P~ KK MR
o Radical
00971 Eﬁ Change radical to 36(%).
G_Z74661303
It's meaning is the fellow, it'll be better to change its radical to
158(&), SCto 8 and FS to 2.
H , {5 ()
00988 ﬁ:‘ Radical ndaek [dak’] ¢ 5 4
N CHMTEEX I,
G_Z3492202 ~{z3. ndaek vunz
NeixX. A As X geik,
01013 l Radical ] '
% In the light of the meaning, should the radical be
G 71391302 . ’ I
44 (Knife, R18) rather than (Corpse, R44)? If yes, then
_— SC=11, FS=5.
= .
Evidence:
10 1

I ()

doz [to'] m, f5~.

canghdoz. .
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(6

Change radical to 5(2).

01100 Radical s radical is Z.
G_Z73121401
The character is mean a roast pastry. I'll be better to change it's
radical to 86(:X), SCto 7 and FS to 1.
5y (m)
01420 Nty Radical gangq [ka:p®] g,
G_z1781101 bi: Wi~, bingj
gangq.  pemle B, thigA
i
01519 %;I Radical

JOD

G 72892101
68
NI

10 4

N
A
In the light of the meaning, should the radical be )I_t (Heart,

~N
™~

R61) rather than (Dipper, R68)? Radical change does not
affect SC and FS.

Evidence:

K )
liuh[lin'] g, wig,
W R~

Gou liuh

mbouj haengj bae guh.

mwngz

PR A 21

14 / 67



02983 [ Radical may be F? SAT
Radical
G _Z2941101
following to GZ characters in CJK F, the radical should be #(55), [J
rather than FE(162)
162
£ ik
radical and 04300 z 1_
04309 j—l‘ * stroke count ERE G_E@Zl-’lﬂl
G 72921401 2D699 E\z  2D69B T
I 55.10 ﬂ- J 5513 j—[—]}(
GZ-4291310 , GZ-2622106
02615 Radical g— r Original
jE Is a variant form of KangXi Radical (Sickness, attributes:
104
T13-2E53

R104)? Should the radical be JI: (Wrong, R175) instead?

Reference: IRGN2036 R104:

0 | ,—-—
@7592

Evidence:
P ™

=
8 1 3
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radical and stroke count should be corrected to 113.9, to reflect  [J
the corrected glyph.
145
—- 03801 F
radical and
03801 mﬁi stroke count 9 |5
KC-03032 : “r
E Jli{l-
. EC-03032
N
7{7"\ UTC
00020 ‘t’% Change radical to 168.1 K:, and change SC to 4
UTC-02779
I T
00047 H radical Change radical to 72(B).
UTC-02962
00109 /J Radical, FS |t is resolved during IRG Meeting #46 that the radical should beH
s
changed to 7k (Water, R85):
UTC8052933 Radical #85 7K, irg46
7}( However, should the radical be /N (Small, R42) instead?
Whether the radical is changed or not, the FS must be 0 because
0 | 5 the SC is 0.
00110 Radical, FS It is resolved during IRG Meeting #46 that the radical should be|H

N

UTC-02934
85

7K
0o | 5

changed to 7k (Water, R85):
Radical #85 /K, irg46

J N\

However, should the radical be (Small, R42) instead?
Whether the radical is changed or not, the FS must be 0 because

the SC is 0.
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5

radical

Change radical to 18(7]).

00114 4+'s radical is 7]
UTC-00972
o radical
00124 Change radical to 75(), SC to 6 and FS to 4.
UTC-01074
Ay radical
00289 - Change radical to 172(££) and SC to 2.
UTC-01321
B N radical
00292 Sl Change radical to 195() and SC to 2.
UTC-01322
o radical
00456 q@ Change radical to 75(&) and SC to 8.
UTC-02821
radical Change radical to 29(X).
00477 a
UTC-01335 ’s radical is X.
i m \ radical
01124 Change radical to 61(i»).
UTC-01500
01186 % radical Change radical to 30(F) and FS to 5.
UTC-01349
— radical
00132 l l Change radical to 16(J1) and FS to 3.
USAT06168
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A radical T
00144 RN Change radical to 12(/\) and FS to 3.
USAT08529
y; radical T
00282 % Change radical to 130(B), SC to 2 and FS to 3.
USAT08988
AN T
01117 5,:F‘ radical Change radical to 51(F)
USAT08402
00214 ﬁﬂ SC SC=9 H
G 74692409
9
A
10 4
T: 10. T H
H: 10
00219 /ﬁg sC Reference: IEE (SC=9)
|| 2N 5043 fIg - {E
KC-00169 r 0 /ﬂg {E @ {g {E
63E0 G0-5948  HB1-BOB3  T1-5876 J0-5070 KO0-6567 V1-4B6A
G0-5E6B  HB2-D9SD  T2-3C22 J1-403E K1-663E
A 1™ T
00288 Elﬂ sc Change SCto 7.
UTC-01320
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SC SC=22
00316 @ Reference: IRGN954AR #35
i AL ) 4 SC A&
UTC-02882
_14
21 | 4
00317 @ sc SC=25
EE Reference: IRGN954AR #35
SR I 0 A AEK &
24 | 4
00512 M SC, FS SC=4, FS=3
Reference: IRGN954AR #15
USATO06789 15 7]
29 y,
X
3 | 5
01215 SC SC=5

Reference: page 26, IRGN1113:

05513
0227.271 iE

5 | 0 |chinacyyooz11)

SC should be 5.
Evidence: the right part £
(U+5DE8) has 5 strokes. Its
KXIndex is 0325.120.




01417

G_PGLG4009

Change SC to7.

01514

18 3

The SC of KangXi Radical % (Turtle, R213) is 16.

01578

SC

8—9

01581

GHZR31624.03

72
H

8 [ 3

SC

01600

Iy

USATIDITE

72

=
11 1

SC and FS

FS1—-2
SC 11—-12
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01611

e
G_Z0342701
72
=)

12 3

SC

12—11

01662

1%

USATO9474
74
H
BTN

SC and FS

FS1—-2
SC 11—-12

01722

S

G_Z4282402
75
#+
9 [ a4

SC

9—10

01982

e
T13-2C52
+

85

7*
[ I 3

SC
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02000

02068

SC

10—9

02119

|

UTC-01202

SC
FS

14—12
3—2

02207

SC
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02221

SC

SC=9

Reference: IRGN954AR #35:

SUPAE S

35

02321

SC

SC=10

02540

T13-ZE3B

102

SC

02632

H
2]
5

T13-2ESB
104
—

12 |

12—13
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i)
G ZO902603
m
9 4
02712 SC Sc=14 0
Reference: IRGN1864:
GHZIR(;%%S'OS Stroke count of the component “Bil” (U+08207) was set 14.
m
13 3
.2 G, H
HAr
P 72311402
02714 ‘ HI ;;5';[ SC 15—16
m
15 1
02716 sC SC=22 H

i

@
—
Q
=
o)
o0
=

(V]
— —_
_lg‘ooo
I~

Reference: IRGN954AR #35:

A

A&
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1

USATO4667 sc g
02745 100 Fo 1o
B
7 1
e
[ES
02941 RC-02995 SC 12
113
D
9 1
s
v
02942 RC02999 oo 9—8
113
T~
9 3
03016 —tr SC SC=13
%}%H Reference: IRGN954AR #26:
KC-03092 26 2
115
x
12 5
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03017 *E% SC SC=14 H
Reference: IRGN954AR #35
G 72951201
- 35
115 & @i A
5&
03419 mﬂi SC As a phonetic component ?f the glyph, the right component|H
should be (fﬁ), not I |j (Shi). The SC should be 4 and
USAT06% 75 the FS should be 1.
h— Evidence:
A
5 | 4 pam
03612 ﬁ SC C=9 H
— = Reference: IRGN954AR #35
UTC-01968
35
140 ’_’Q @#i A
Y
8 | 5
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03919 ) /Ae: Sl Sc=8
-']/ﬂ Reference: IRGN954AR #35
UTC-02799 35
149.1
7 15
04220 $ﬁ sC SC=9
o N
R Reference: IRGN954AR #35
UTC-02066 35
159.1
S
8 [ 1
04813 %ﬁ SC SC=7
)\ Reference: IRGN954AR #35
UTC-02721 35
181.1
B
6 1 3
05016 %ik SC SC=11
id Reference: IRGN954AR #35
UTC-02379 35
187.1
10 5
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05315

73

UTC-02432
196.1

6 1 3

SC

SC=7

Reference: IRGN954AR #35

SUPAE S

35
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